In 1497, who landed in the northern part of North America on a voyage for England which was intended to reach
Asia?

a. () Jacques Cartier

b O James Cook

c. ) Henry the Navigator
d ) John Cabot

What is the title of the person who is the representative in Australia of the monarch of Australia?
O Governor-General
() Prime Minister

O Execute Council

oo

) House of Commons

What happened to the economy of Germany after World War 1?

O The German stock market experienced record highs

() The economy went into a deep depression because Germany had to pay war reparations
() The economy flourished due to the formation of the European Union

o o oe

O International trade with the United States led to a strengthened economy

What physical feature is not generally associated with European countries?
a. ) desert
b. O tundra

c M nlainc



d. O mountains

What is the name of the group of people indigenous to New Zealand?

a. () Aborigines
b. ) Mestizos
c. () Chicanos
d. O Maori

What is the term for a trade restriction that sets a physical limit on the quantity of a good that can be imported
into a country in a given period of time?

a. O tariff
b () comparative advantage
C. O quota
d () economic specialization

Canada's free market-based economy is most similar to the economy of which country?

a. ) Cuba

b () Saudi Arabia

c. ) the United States
d O China



In Germany, into which body of water does the Rhine River, one of Germany's most important rivers, flow?
a. O Mediterranean Sea

b. O Baltic Sea

c. O Black Sea

d O North Sea



